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inted Pages —7 Roll No. (b) The elevations of two proposed triangulation stations -
S A and B, 160 km apart, are 100 m and 326 m above
CSVTUonline.com mean sea level respectively. The elevation of an
intervening peak at C, 80 km from A, which is likely
320453(20) to obstruct the line of sight, is 150 m. Ascertain if A
- and B are inter-visible, and if not, find the height
B. E. (Fourth Semester) Examination, s T required for the scaffold at B so that the line of sight
April-May 2016 - | clears C by 3 m. 7
(New Scheme) K ! ;ﬂ (¢) Explain the reduction of phase error when the signal
(Civil Engg. Branch) - "gr;‘ S 18 partly illuminated. 7.
;o

SURVEYING-II
Time Allowed : Three hours

Maximum Marks : 80

Minimum Pass Ma:ks«.zs P

- for sag, pull and‘tempcr&ture. The coefficient of
expansion s 11 x 1075 /°C; the weight of the tape
material is 77-5 kN/m? and the elastic modules Eis
20 % 108 kN/m?, ¢ W

Note : Attempt all. tions. Part(a).of each question
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(b) The fo‘ﬂﬁm gles W?re '_ W = 5805 | Ig" 70°4722" 50°21'13"
Angle wel 5805 1'26" 7004725"  50°21'13"
A =40°36"25" 2 | # 5895 132" 7004723" 50°21'10"
B =30°12'40" 2 | .ﬁ. X 58°5127" 70°4726"
C=65°30'15" 1 C%".IBP "I'ecom 58°51'31" .
A + B =70°49"10" 2, Assign weights to the angles by Gauss rule and
B+ C = 95042'52" 1 determine their least squares estimate. 7
Find the most probable values ¢ | Unit-IIT CSVTUonline.com
3. (a) What is a subtense theodolite? 2

Z£BOC =102°15'43- 26" ,w-z

 0°%55  RL of BM
- 2655 =510:500m

1:250
3200




s & A (6] g
Find the RL of B, and ‘the d.smﬁ bet ﬂxe’BM‘t Inst.  Height Staff of Vertical Hair . Reiark
‘and station’B. . 2"‘ : station of axis  station angle reading | :
P 145 BM  —6°12' 098, RLof BM
154, =38425m

2:100 o g

(¢) The same distance was measured by a tacheometer
‘and a subtense theodolite. Records of the tacheometer”
reading are as follows :

CSVTUonline.com

P 1-45 Q  +7°5' 0-83,136,
1-89

Staff intercept = 1-255 m,
Angle of elevation = 5°0'

Q 157 R +12°21' 189,
f 2:48,307

’.'—{ A

Subtense theodolite readings :

Determine the distances PQ and QR and the RLs.of

Staff intercept = 2 m.
Aﬂgle Of elevatim s .5030' . i

Constants = 1000 and 03



{.“- (ii) Tilt CSVTUonline.com
(iii) Exposure station

Unit-V

S. (a) Define the purpose of Hydrographic Surveying? -

type of surveying is based?

--

(¢) Give the different graphical sélu{:ons o the focating
we_ * points at soundings from the angulétbbservaﬂons '

from boat. 7
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(d) A, B and C are three vxsxm stations in a
¢ S{des of the

hydrographicai survey. The
triangle ABC are : AB 1130 1
1889 .m. 4 : C
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